BRT=-AHE SvF07—-F

(2013412831 B+ ATP/WTASU X4 H2A)

<JTAS X5 > UTASUFXUT>

[BF 2T ILAR](1699) [ZF 25 )LR](880)

[[=Fiva K4 g E{k 4 (TR P £ K% g E{k 4 Pk Vb
42 &% #h— FFIB1T 2995 98 EAX ME MPFERKFETC 607
60 /NIl &4 FFEEIT 1777 304 ,§EJII =2} BEST. tt 89
67 BREF HIK {FEFEEIT 1524 496 SN FE v—7 36
78 HER TAERFFERIT 1240 565 ] Ef BIRIEHASE 25
87 L3 —& FRFIEIT 995 665 #f)l| H{E BEST. tt 14
100 3R%7 12 FFEEIT 733
231 B3I t#hE BHBKXE 224
272 HE EA FHEKR 178
333 /\K 15 SABTHERM 146
760 #F KB FFET 40
966 Ll WEER FHEEKR 23
966 KFE BEA BEAR 23
966 LUA @K #LUTH&RT 23

1326 =3F —1F ZFEBEFRT=-R937 10

[BFATILR](1273) [ZF45 T ILR](809)

[t K4 FriE A4 ST E P [t K4 FriE A4 S E
16 €57 #hi— {FFERIT 21334 55 EAX & MPFERKETC 3723
39 hEF FIK RFIRIT 4346 238 [RH Wik ZBREREE 103
42 [x¥ & FFERIT 4225 247 X T4 BREAXE 91
52 L —& {FFERIT 2891 251 X8 T8 ZiEEREE 90
60 /NIl &4 RFIRIT 2453 3B ME BX ZHBRERAEE 63
64 HEAR TAERFFERIT 2219 458 K& +H ZEREREE 36
96 KFE BA BEAR 1094 494 | B BIEEALE 23
146 % RE FFRT 561 542 #)Il 2 BEST. tt 14
173 B3I #h&E BEAKE 419
281 H¥Y EA FHEK 187
290 {EIL WEER FESR 183
425 J\K &N | SATERT 90
750 Il Xth WX 36
807 R& 1= FHEIT)—2TZRI5T 23

XCDERFEARTZRFERT JTASUF VI —ELVABREEROEFLRAHSEFEHRMLTERLTEYET
XATBRERE [LITANDBEHEERLG>TEYEIT DT, BERT-ARRICKTIMBRRERLGISEENHYFET




